
Phenoneology III - Electroweck Iterations

Lo us explore some low-energy phonology from

the electromech theory of legans .
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Thiseffective interaction is known as the

For-fernt interaction
,
which was historically developed

first to describe neutron -decay.
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Evaluating the traces
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Let's focus on
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The -e-wave is the dominant decy mode,

BR-100 %. So
,
we can measure the lifetime,

-

n
= 2

. /870 x 100 sC

and deduce that GoF 1. /64 x15 Get

We find that TE eveVe is consisted with

Hos G . lepton micusality

-Rose Phenomenology
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are poles in the complex easy place .



Consider the Dyson sures for the E-bosa propagate
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